

Name :- Owaru William
 Course Code :- MAT 104
 Date :- 07/05/2020
 Matric Number :- 19/SCC01/081

$$1.) \frac{(3x-1)}{(x-1)(x-2)(x-3)} dx$$

$$\frac{3x-1}{(x-1)(x-2)(x-3)} = \frac{A}{(x-1)} + \frac{B}{(x-2)} + \frac{C}{(x-3)}$$

Multiply both sides by $(x-1)(x-2)(x-3)$

$$3x-1 = A(x-2)(x-3) + B(x-1)(x-3) + C(x-1)(x-2)$$

$$3x-1 = Ax^2 - 5Ax + 6A + Bx^2 - 4Bx + 3B + Cx^2 - 3Cx + 2C$$

$$3x-1 = (A+B+C)x^2 + (-5A-4B-3C)x + (6A+3B+2C)$$

$$-1 = 6A + 3B + 2C \quad \text{--- (i)}$$

$$3 = -5A - 4B - 3C \quad \text{--- (ii)}$$

$$0 = A + B + C \quad \text{--- (iii)}$$

$$A = -B - C \quad \text{--- (iv)}$$

Substitute (iv) into (i) and (ii)

$$\begin{aligned} 6(-B-C) + 3B + 2C &= -1 \\ -5(-B-C) - 4B - 3C &= 3 \end{aligned}$$

$$-3B - 4C = -1 \quad \text{--- (v)}$$

$$B + 2C = 3 \quad \text{--- (vi)}$$

From (vi)

$$B = 3 - 2C$$

Substitute B into (v)

$$-3(3-2C) - 4C = -1$$

$$-9 + 6C - 4C = -1$$

$$\begin{aligned} \frac{2C}{2} &= \frac{8}{2} \\ C &= 4 \end{aligned}$$

Substitute C into (v)

$$-3B - 4(4) = -1$$

$$-3B - 16 = -1$$

$$\frac{-3B}{-3} = \frac{15}{-3}$$

$$B = -5$$

Substitute B and C into (i)

$$6A + 3(-5) + 2(4) = -1$$

$$6A - 15 + 8 = -1$$

$$\frac{6A}{6} = \frac{6}{6}$$

$$A = 1$$

$$\therefore (A, B, C) = (1, -5, 4)$$

$$\therefore \frac{3x-1}{(x-1)(x-2)(x-3)} = \frac{1}{(x-1)} + \frac{-5}{(x-2)} + \frac{4}{(x-3)}$$

$$\int \frac{3x-1}{(x-1)(x-2)(x-3)} dx = \int \frac{1}{x-1} dx - \int \frac{5}{x-2} dx + \int \frac{4}{x-3} dx$$

$$= \ln|x-1| - 5\ln|x-2| + 4\ln|x-3| + C$$

$$\textcircled{2} \frac{(x^2+x+1)}{(x+2)(x^2+1)} dx$$

$$\frac{(x^2+x+1)}{(x+2)(x^2+1)} = \frac{A}{(x+2)} + \frac{B+C}{(x^2+1)}$$

Multiply both sides by $(x+2)(x^2+1)$

$$x^2+x+1 = A(x^2+1) + (B+C)(x+2)$$

$$\frac{x^2+x+1}{x^2+x+1} = \frac{Ax^2+1}{x^2+x+1} + \frac{Bx+C}{x^2+x+1}$$
$$= (A+B)x^2 + (C+B)x + A+2C$$

$$1 = A+B \quad \text{--- (i)}$$

$$1 = C+B \quad \text{--- (ii)}$$

$$1 = A+B \quad \text{--- (iii)}$$

From (ii)
 $A = 1 - B - C$
 Substitute (ii) into (iii)
 $1 - B + 2C = 1 - C$
 $-B + 2C = 1 - C$

3.) $\frac{x^2 + 1}{(x-3)(x-2)}$

$\frac{x^2 + 1}{(x-3)(x-2)} = \frac{A}{x-3} + \frac{B}{x-2} + \frac{C}{(x-2)^2}$

Multiply both sides by $(x-3)(x-2)^2$

$x^2 + 1 = A(x-2)^2 + B(x-3)(x-2) + C(x-3)$

$x^2 + 1 = A(x^2 - 4x + 4) + B(x^2 - 5x + 6) + C(x - 3)$

$x^2 + 1 = Ax^2 - 4Ax + 4A + Bx^2 - 5Bx + 6B + Cx - 3C$

$x^2 + 1 = (A+B)x^2 + (-4A - 5B + C)x + (4A + 6B - 3C)$

$1 = 4A + 6B - 3C \quad \text{--- (i)}$

$0 = -4A - 5B + C \quad \text{--- (ii)}$

$1 = A + B \quad \text{--- (iii)}$

From (iii)
 $A = 1 - B$ --- (iv)

Substitute (iv) into (i) & (ii)

$$4(1-B) + 6A - 3C = 1$$

$$-4(1-B) - 5B + C = 0$$

$$4 - 4B + 6B - 3C = 1$$

$$-4 + 4B - 5B + C = 0$$

$$2B - 3C = -3 \quad \text{--- (v)}$$

$$-B + C = 4 \quad \text{--- (vi)}$$

From (vi)

$$C = 4 + B \quad \text{--- (vii)}$$

Substitute C into v

$$2B - 3(4+B) = -3$$

$$2B - 12 - 3B = -3$$

$$-B = 9$$

$$\underline{-B = 9}$$

$$B = -9$$

Substitute B into (vii)

$$C = 4 + B$$

$$C = 4 - 9$$

$$C = -5$$

Substitute B and C into (i)

$$4A + 6(-9) + 3(-5) = 1$$

$$4A = 54 + 15 = 1$$

$$4A = 1 + 81$$

$$4A = 82$$

$$\underline{\frac{4A}{4} = 10}$$

A

$$\therefore (A, B, C) = (10, -9, -5)$$

$$\therefore \frac{x^2 + 1}{(x-3)(x-2)^2} = \frac{10}{x-3} + \frac{-9}{x-2} + \frac{-5}{(x-2)^2}$$

$$\therefore \int \frac{10}{x-3} dx = \int \frac{9}{x-2} dx - \int \frac{5}{(x-2)^2} dx$$

$$= 10 \ln |x-3| - 9 \ln |x-2| + \frac{5}{x-2} + C$$

$$4.) \int \frac{x^3 + x^2 + x + 1}{x-1} dx$$

$$\int \frac{x^3}{x-1} + \frac{x^2}{x-1} + \frac{x}{x-1} + \frac{1}{x-1} dx$$

$$\int \frac{x^3}{x-1} dx + \int \frac{x^2}{x-1} dx + \int \frac{x}{x-1} dx + \int \frac{1}{x-1} dx$$

$$\frac{2x^3 + 5x^2 + 6x - 11}{6} + \ln|x-1| + \frac{x^2}{2} + x + (x-1) + x-1 + \ln|x-1| +$$

$$\ln|x-1| + C$$

$$= \frac{2x^3 + 3x^2 + 6x - 11}{6} - 4 \ln|x-1| + C$$